Quiz 6
ID#: Name:

1. JTHREDS 8 T, 2D I b D 3THNDRKRED 4,2,2 TH B2 RIZOWTRDOMIZE Z X, Consider
trees with eight vertices such that the degrees of three of them are 4,2, 2.

(a) D DSTHRDOREZ 2,1,1,1,1 TH 5 Z & Z2FHHAL TL 723>, Explain that the degrees
of the remaining 5 vertices are 2,1,1,1, 1.

(b) &zl d (FETHRWV) K233 D5, Ths ZMR+E L, Depict three non-

isomorphic trees satisfying the condition.

2. a,b,c,d, e, f, g, hZHisS (HAETORV) 2y b7 =7 TEHRNDOLDZED 12w, 2%
No 2 HHEZHBSEAPRDO L HICEZ6NTVL IR, ZORNDERIZVL S50, ZDFR Y
F7 =27 KR &, (HA71Z ) Find the cheapest network connecting a, b, ¢, d, e, f, g, h
using the cost table below. Draw the network and give its total cost. (1 unit = 10,000 JPY)

h @ o

| [hlelfle[d]c]b]

1[4[3[2]7]5]4]
8 b
513 ® L

6

S| O =~

= O W

|| =] po| on

f @ o°

Q| ool
= = O |

‘e od
&5t (Total) :
Message il (BIcd EHZ) (EEEALIZ, ICU ©Z LTHZO TEERE) It >THhERZ L, How

do you define World Citizen? Your thought on Internationalism at ICU. ("HP fg#-A1]; (ZHHEE
D, If you don’t want your message to be posted, write “Do Not Post.”)



